LAMBER

JOHNSON
INSTALLATION INSTRUCTIONS

Product Revision Form
7110-1229 Rev.A INST-880

Chair Rail Mount - Zirkona 208000 Printing Spec:PS-001

Installation of 7110-1229 Chair Rail Mount to
the vehicle chair rail provides an M20
threaded mounting point for Zirkona products.

Nofte -

The Chair Rail Mount will not work will all
vehicle chair rail designs.

Also, power seat mechanisms and airbag
devices may block mounting surfaces.

The Base Plate is placed on the top side of
the chair rail and the anchor plate is
placed inside. Carriage or hex head bolts
are used to secure the mount.

Anchor plates of various widths are
supplied to fit inside different style chair
rails.

An offset plate is supplied to level the
mounting surface on designs with uneven
surfaces.

Product Mounting Disclaimer

Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, special, incidental or consequential damages for personal injury or other damage
of any nature arising directly or indirectly as a result of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications
and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

© Copyright 2018 Gamber-Johnson, LLC
If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868 1/2



(2) M8 x 25mm Hex Head bolts

Base Plate

(2) Threaded Anchor Plates

(2) M8 Nylok Nuts

(2) M8 Flat Washer

Base Plate

Offset Anchor Plate
(used on uneven surfaces)

30mm wide Anchor Plate

(1 corner cut) Use appropriate
size for

. application
35mm wide Anchor Plate

(2 corners cut)

40mm wide Anchor Plate
(notched along edge)

(2) M8 x 30mm Carriage Bolts

2/2



